
1.  

 

 

 

2.Part List: 

NO. Tools QTY(pc) 

01 Allen Key 1 

02 Allen wrench 1 

03 Allen Screws M8*50MM 4 

04 Knob 1 

05 Allen Screws M8*20MM 4 

06 M8 Anti slip nut 4 

 



 

Assembly steps 

1.open the box and please check all the parts. 

2.Assembly the seat:Use Allen key(01) to fasten the seat to the shelf with 4pcs Allen Screws 

M8*20MM (05) 

 

 

3.Assembly handles:use Allen wrench(02),Allen key(01) to assembly handles with 4pcs 

M8*50MM(03) ,M8 Anti slip nut(06),pls make sure you put the right side of Right Handle, Left 

Handle,and direction. 

 

4.Assembly the front tube: please put the tube into it,and adjust the suitable hole. 



 

5.Put the whole hover kart to the scooter:Adjust the nut on the shelf to fit the size of hover 

board.Assembly the hover kart on the scooter with the bandage,please check the bandage is firm 

before using the hover kart. 

Attention:if hoverkart work without people sit on it,you should loose the bandage. 

 

 

Operation Manual 

1.sitting on the seat,and keep handles horizontal,and turn on the power switch. 



             

Horizontal stop,keep both handle horizontal         Back off:lift up both handles         Forward:push both handles down 

 

                           

Turn left:don’t move your left handle,put down the right handle.    Turn right:don’t move your right handle,put down your left handle. 


